Bl
25 9¢% 0.1 %
(Le22] = 0.0008) xeo ™" F ko

CpL00 * 0.1 A

you J&M‘* L‘“"e é“—auﬁ'& T 74"‘""Q><0’—r
o glve the resul/t Loy 123 SAU P 2//&,
shmce 2/ bk, = [ /X007 AU,

¢




|
|
|
|
|

8.2
T sed /yffudh :

|[Computes mean, median and mode of data in ProbB2.txt

import numpy as np
import statistics as stat

time = np.loadtxt( 'ProbB2.txt',unpack=True)
print(time)

t_mean = stat.mean(time)
t_median = stat.median(time)
t_mode = stat.mode(time)

print('mean = %g\nmedian = %g\nmode = %g' % (t_mean,t_median,t mode))

The owlpat  ix

In [16]: run ProbB2.py

[ 15.5 15.2 15.6 15.7 14.9 14.7 14.6 15.4 15.4 14.8 14.9

15.1

14.2 14.5 14.8 14.9 15.6 14.1 15.7 14.7]

mean = 15.015
median = 14.9
mode = 14.9

In [11]:




5.3 @l) A‘ﬂam e pfflam ;

Computes mean, med_an and -=adoa of JETSA 2N PLOLBEZ . txt

1roort numpy =s np
import statistics zs stat

time = np.loadtxt('ProoBZ.txt',unpack=:rue}

print(time)

t_mean = stat.mean(time)

N = len(time)

s = np.sum((time-t_mean)**i)/(N—L)

sdom = s/np.sqrt(N)

print( 'mean = 5¢, sample std dev = 5G, sdom = ig' % (t_mean,s,sdom))

print{'sg *t 3g' % (t_mean,sdom))

In [12]: run ProbB3.py

[ 15.5 15.2 15.6 15.7 14.9 14.7 14.6 15.4 15.4 14.8 14.9 15.1
14.2 14.5 14.8 14.9 15.6 14.1 15.7 14.7]

mean = 15.015, sample std dev = 0.235026, sdom = @.0525535

15.015 * 0.0525535

In [13]:
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5,4 The perim_evérr p= 20 + 2w,
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